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; The figures in the margin indicate full marks
for the questions

Write the answers to the separate Halves
in separate books

FIRST HALF
( Inorganic Chemistry )
( Marks : 25)
1. oo fAART wa Seacr AR Sfesr - 1x3=3
Choose the correct answer from the

following :

(@) ©=To fral @FCE @R TIPS BT 2

Which of the following compounds is
octahedral in shape?

fij PClg (i) SFg
&
‘ (iii) NH, (iv) CO,
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(b) o7 TRRS @IHCE AN WA LA SR ?

Which of the following atoms has
unpaired electron?

(i) Ne (i) Fe l

(iii) Ar (iv) Zn

(c) &1 faxl @GR -0 T[T 2

Which of the following has the minimum
bond length?

() N, (ii) N3

(itY) N5 (iv) N3*

2. oo frml amcaRs R e fofNeR Tex B @ 2x3=6 !
Answer any three of the following questions :

(a) oo M SRNERY agam R By e

Write the electronic configurations of the
following ions :

f). ‘Ti*t
(ii) Ni%*

(b) 4d-SRROFR I@ BRI @RIDN  NNER
form 1

Write down the possible quantum |
numbers for 4d-orbital. 2

o
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(3)

() iR wRREA o5 Tt Ry o

Write down the postulates of molecular
orbital theory.

(d) w=e Sy F9 AR S oA A
a1o=-og T :
Draw the resonating structure for the
following two molecular ions :

CO% . .CallrO"

3. oo fi o R @ o ey for : 3x2=6
Answer any two of the following questions :

(@) VSEPR ©gd ¥ XeF, T o157 IR 341 |

Explain the structure of XeF, on the
basis of VSEPR theory.

(b) NH, 9 #3% g BF; S | $R4 70 |

NH; molecule is polar but BF3 is i
non-polar. Justify. |

(c) H-CRR B&H! AT I |
Explain the Born-Haber cycle.
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4. wEo fiu amERs R @il PR Sed o 3x2=6

Answer any two of the following questions :

(a) He *R¥IE Trzmersae a1 ~mef foay Jifes
JRA F |

Explain the Pauli’s exclusion principle
with reference to He atom.

(b) H-*RNF IR % R oR AN £
FNFT O 245 4] |

Express the Schrédinger’s  wave g
equation for H-atom in terms of polar
coordinate.

(©) d-S=RbeR SFhS BP0 |
Draw the shapes of d-orbitals.

5. oo MOIERS ¢7F® oY BRI v : 2x2=4

Write short notes on the following :

(a) TERI 9y
Fajan’s rule

(b) QRIS Ffroae BTl

Heisenberg’s uncertainty principle
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SECOND HALF

( Organic Chemistry )

( Marks : 28 )

6. wue MAAIRT wa Sedcol MR Sfrear - 1x4=4
Choose the correct answer from the
following :

(@) SHReE @R SF TR ST @PHRT
IO 2

Which one of the following is the
strongest base?

(i) (CH3)3N

(i) CH3CH,CH,NH,
(ii) CHsCH,NHCH;
(iv) CgHsNH,

(b) TAIE  OWETEl  ORER R SO
fafiReTd [ R e
Find out the compound from the
following which is able to show optical

isomerism :
CH
s 85 0, eCH3 4 [
(i) e=C{ (1) Hsc—‘(l:_CH:s
H H CH;
H
{iii) H,C—CH—COOH (PRHRCHC—H
(‘)H COOH
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(c) TS TIEY I (I G @6 TR ?

Which one of the following compounds is
not aromatic?

(M) @ (it) |
: o |
(iti) (iv) gh

(d) TR RisFare Izs el e
The metal used in Wurtz reaction is
(i) Zn , (ii) Na
(i) Ca (iv) Mg

7. oFe fra o] R e fORbR Tew fon @ 2x3=6

Answer any three of the following questions :

(@) S 2R e & g THRPR AR
341!

What is inductive effect? Explain with
example.

(b) wee MAART R 2R TiRel e e wize
fore <41 -

Identify electrophiles and nucleophiles
from the following :

Cl-, ROH, CH;, RMgX
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(7))

() AR '3i3w 3w #'dfzves @R A |
IR iR A 349 |

Vinyl chloride is more stable than ethyl
chloride. Explain it giving reasons.

|

|

(d) I I @I FHEARAT G0 S
?i%wanﬂnwl

What are carbanions? Discuss the
structure and stability of carbanions.
8. e fr ARy Tes frd 2x5=10
Answer the following questions :

(@) T QPEEe R/S WA Rowd FERese

4l
Distinguish the following as R/S
isomers .
H NH,
Q) H3C+C2H5 (i) Ho_{_H
NH, CH,3
(b) RGBT ST RO Sr=[{/2CF4R
TR T I |

Draw the Newman projection of
conformations of butane.

(c) % QIR QME? Ry QR @NRIE SCER
SFRRIAS! TR ?
What are meso compounds? Why is a
meso compound not capable of showing
optical activity?
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(d) oo QPR Ifzeae IHPHR o4 (%) e
o <11 -

Find out the chiral carbon in the

following and label them by asterisk (*)
mark :

CH; H

(i) Hsc—(ID—C—CH3

Cl cl
Cl H
\

X %%
(i) HOOC—C——C—CHO

OH Br

(e) 1-FT-1-7"FRTH-1-31 E- WiF Z- 5@l
T 40|

Draw the E- and Z-isomers of 1-bromo-
1-chlorobut-1-ene.

9. wTe frll IR R @I o T fory
Answer any two of the following questions :

(@) ©=F R @A GBR e*[/S 57 Gl B

Write a short note on any one of the
following :

(i) cobreE S
Saytzeff’s rule

2x2=4

(f) 2T AR

Hofmann elimination
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(b) XA WS «f crgEm, A 4

Explain the acidic behaviour of ethyne.

(©) WEN e IR WiTa @A 2% IRA1?
IPRRE Rien Sae k{711

How will you prepare ethanal using
ethyne? Give the reaction.

10. wee Stay 91 wpre Ridrs R i vkl

o 0 1x4=4
Complete any four reactions from the
L following :
Peroxide _
(i) CH3CH=CH, + HBr > ?
T
(i) CH3CH=CH, + H,0 ———> ?
(if) CH,CH,C=CH + 4{0] —— 104
IR OH™, 380 K
858
(iv) R—Cll—?—R + KOH alc. —> ?
Hi:'H

dry ether
(v) CHsBr +2Na + BrCH; —>—— 5 ?

* Kk
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